

1989-01
1989
ET

05348

SERIE RESEARCH MEMORANDA

**TESTING STATIONARITY AGAINST
THE UNIT ROOT HYPOTHESIS**

by

Herman J. Bierens

Research Memorandum 1989-81

December 1989



**VRIJE UNIVERSITEIT
FACULTEIT DER ECONOMISCHE WETENSCHAPPEN
EN ECONOMETRIE
AMSTERDAM**



TESTING STATIONARITY AGAINST THE UNIT ROOT HYPOTHESIS

by

Herman J. Bierens

Free University, Amsterdam

1. INTRODUCTION

In this paper we propose a simple nonparametric test for a unit root in a univariate time series. The tests proposed in the literature all test the unit root hypothesis against the alternative that the time series involved is stationary. See Fuller (1976), Dickey and Fuller (1979, 1981), Evans and Savin (1981, 1984), Phillips (1987). For further related references, see Phillips (1987) and Haldrup and Hylleberg (1989, Table 1). In this paper we take the stationarity hypothesis as the null and the unit root hypothesis as the alternative, i.e., denoting the time series process by y_t we test the null hypothesis

$$(1.1) \quad H_0: y_t = \mu + u_t \text{ with } \mu = E[y_t]$$

against the alternative

$$(1.2) \quad H_1: \Delta y_t = u_t,$$

where u_t is a stationary process. The other difference with the tests in the literature is that the asymptotic null distribution is of a well-known type, namely standard Cauchy (c.q. the Student distribution with one degree of freedom). Under H_1 the test statistic, divided by the sample size n , converges weakly to a continuous distribution, so that the absolute value of this test statistic converges in probability to infinity (at order n). The test involved is therefore consistent against the unit root hypothesis (1.2).

2. LINEAR TIME TREND REGRESSION

The intuition behind our test is that under H_1 the process y_t has a stochastic trend and therefore behaves (more or less) as if there is a deterministic linear trend. This suggests to regress y_t on time t , i.e., estimate the auxiliary "model" $y_t = \alpha + \beta t + v_t$ on the basis of the observations $t=1, \dots, n$, and use the least squares estimate of β ,

$$(2.1) \quad \beta_n = [\sum_{t=1}^n (t - \bar{t})(y_t - \bar{y})] / [\sum_{t=1}^n (t - \bar{t})^2],$$

with

$$(2.2) \quad \bar{t} = (1/n)\sum_{t=1}^n t = \frac{1}{2}(n+1) \text{ and } \bar{y} = (1/n)\sum_{t=1}^n y_t,$$

as a basis for a test statistic. The further intuition is that the rate of convergence in distribution of β_n is different under H_0 and H_1 , and that this difference can be exploited to distinguish between H_0 and H_1 .

As in Phillips (1987) we shall not assume a specific model for u_t , except that it is Gaussian and that its covariance function $\gamma(m) = E[u_t u_{t+m}]$ vanishes at an exponential rate. The former assumption is not strictly necessary, but eases the argument. It may be replaced by mixing conditions like the α -mixing condition employed by Phillips (1985), or any other condition that ensures the applicability of a functional central limit theorem. The condition that $\gamma(m)$ is exponentially decreasing typically holds if u_t is an ARMA process with invertible AR lag polynomial. Thus:

ASSUMPTION 1: The process u_t is a stationary Gaussian process with exponentially vanishing covariance function $\gamma(m) = E[u_t u_{t+m}]$.

Now denote:

$$(2.3) \quad \sigma^2 = \lim_{n \rightarrow \infty} E\left\{ \left[(1/\sqrt{n}) \sum_{t=1}^n u_t \right]^2 \right\} = \gamma(0) + 2 \sum_{m=1}^{\infty} \gamma(m)$$

and

$$(2.4) \quad r_n = \{ [(n+1)^3 - 3(n+1)^2 + 2(n+1)] / 12 \}^{1/2}.$$

Then:

LEMMA 1: Under Assumption 1 and H_0 , $r_n \beta_n \Rightarrow N(0, \sigma^2)$.

PROOF: Observe that

$$(2.5) \quad \beta_n = \frac{\sum_{t=1}^n (t - \frac{1}{2}(n+1)) u_t}{[(n+1)^3 - 3(n+1)^2 + 2(n+1)]/12} = \frac{\eta_n}{r_n^2},$$

say. Since u_t is Gaussian, β_n is normally distributed. The asymptotic variance of β_n follows from

$$\begin{aligned} (2.6) \quad E(\eta_n^2 / r_n^2) &= \gamma(0) + 2(1/r_n^2) \sum_{t=1}^n \sum_{m=1}^{n-t} (t - \frac{1}{2}(n+1))(t+m - \frac{1}{2}(n+1)) \gamma(m) \\ &= \gamma(0) + 2(1/r_n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1))^2 \sum_{m=1}^{n-t} \gamma(m) \\ &\quad + 2(1/r_n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=1}^{n-t} m \gamma(m) \\ &= \gamma(0) + 2 \cdot \sum_{m=1}^{\infty} \gamma(m) - 2(1/r_n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1))^2 \sum_{m=n-t+1}^{\infty} \gamma(m) \\ &\quad + 2(1/r_n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=1}^{n-t} m \gamma(m) \\ &= \gamma(0) + 2 \cdot \sum_{m=1}^{\infty} \gamma(m) + O(n^{-1}). \end{aligned}$$

The latter result follows from the fact that $\sum_{t=1}^{\infty} \sum_{m=t}^{\infty} |\gamma(m)|$ and $\sum_{m=1}^{\infty} m |\gamma(m)|$ are convergent series. Q.E.D.

Next, denote for $\lambda \in [0, 1]$,

$$(2.7) \quad W_n(\lambda) = (1/\sqrt{n}) \sum_{j=1}^{[\lambda n]} u_j / \sigma \text{ if } \lambda n \geq 1, \quad W_n(\lambda) = 0 \text{ if } \lambda n \leq 1,$$

where σ is defined in (2.3) and $[x]$ means truncation to the nearest integer $\leq x$. Then $W_n(\lambda)$ is a stochastic element of the metric space $D[0,1]$ of functions on $[0,1]$ with countably many discontinuities. The metric involved is the sup norm

$$(2.8) \quad \rho(f, g) = \sup_{0 \leq \lambda \leq 1} |f(\lambda) - g(\lambda)|.$$

It is well-known [cf. Billingsley (1968)] that W_n converges weakly to a standard Wiener process W (denoted by $W_n \Rightarrow W$), which is a stochastic element of the metric space $C[0,1]$ with norm (2.8) of continuous functions on $[0,1]$ such that for $0 \leq \lambda \leq 1$ and $0 \leq \delta \leq 1-\lambda$,

$$(2.9) \quad W(\lambda) \sim N(0, \lambda), \quad W(\lambda+\delta) - W(\lambda) \sim N(0, \delta), \\ W(\lambda) \text{ and } W(\lambda+\delta) - W(\lambda) \text{ are mutually independent.}$$

Moreover, for any continuous mapping Φ from $D[0,1]$ into $C[0,1]$ we have $\Phi(W_n) \Rightarrow \Phi(W)$. A special case of such a mapping is the integral $\Phi(W_n) = \int_0^1 \lambda^m W_n(\lambda) d\lambda$; $m \geq 0$. Furthermore, $(1/n) \sum_{t=1}^n (t/n)^m W_n(t/n) = \int_0^1 \lambda^m W_n(\lambda) d\lambda + O_p(1/n)$, hence

$$(2.10a) \quad (1/n) \sum_{t=1}^n (t/n)^m W_n(t/n) \Rightarrow \int_0^1 \lambda^m W(\lambda) d\lambda,$$

and similarly for $0 < \mu \leq 1$,

$$(2.10b) \quad (1/n) \sum_{t=\lfloor \mu n \rfloor}^n (t/n)^m W_n(t/n) \Rightarrow \int_0^\mu \lambda^m W(\lambda) d\lambda,$$

$$(2.10c) \quad (1/n) \sum_{t=\lfloor \mu n \rfloor + 1}^n (t/n)^m W_n(t/n) \Rightarrow \int_\mu^1 \lambda^m W(\lambda) d\lambda.$$

With these results at hand we can now prove:

LEMMA 2: Under Assumption 1 and H_1 , $(r_n/n)\beta_n \Rightarrow N(0, \sigma^2/10)$.

PROOF: Observe that

$$(2.11) \quad \sum_{t=1}^n (t-\bar{t})(y_t - \bar{y}) = \sum_{t=1}^n t \sum_{j=1}^t u_j - \frac{1}{2}(n+1) \sum_{t=1}^n \sum_{j=1}^t u_j \\ = \sigma n^2 \int_n \{ (1/n) \sum_{t=1}^n (t/n) [(1/\sqrt{n}) \sum_{j=1}^{\lfloor (t/n)n \rfloor} u_j / \sigma] \} \\ - \sigma \frac{1}{2}(n+1)n/n \{ (1/n) \sum_{t=1}^n [(1/\sqrt{n}) \sum_{j=1}^{\lfloor (t/n)n \rfloor} u_j / \sigma] \} \\ = \sigma n^2 \int_n \{ (1/n) \sum_{t=1}^n (t/n) W_n(t/n) - \sigma \frac{1}{2}(n+1)n/n \{ (1/n) \sum_{t=1}^n W_n(t/n) \}.$$

Hence by (2.10a),

$$(2.12) \quad [r_n^2/(n^2\sqrt{n})]\beta_n \Rightarrow \sigma \int_0^1 (\lambda^{-1/2})W(\lambda)d\lambda,$$

where r_n is defined in (2.4).

Since the limiting distribution in (2.12) has been emerged from a sequence of linear functionals of Gaussian random variates, it is normal itself. Clearly, its expectation is zero. Its variance is:

$$(2.13) \quad E\left[\int_0^1 (\lambda^{-1/2})W(\lambda)d\lambda\right]^2 = \int_0^1 \int_0^1 (\lambda_1^{-1/2})(\lambda_2^{-1/2})E[W(\lambda_1)W(\lambda_2)]d\lambda_1 d\lambda_2 \\ = \int_0^1 \int_0^1 (\lambda_1^{-1/2})(\lambda_2^{-1/2})\min[\lambda_1, \lambda_2]d\lambda_1 d\lambda_2 = 1/120.$$

Observing that

$$(2.14) \quad 12r_n^2/n^3 \rightarrow 1,$$

it follows from (2.12) and (2.13) that

$$(2.15) \quad (r_n/n)\beta_n \Rightarrow \sigma/12 \int_0^1 (\lambda^{-1/2})W(\lambda)d\lambda \sim N(0, \sigma^2/10).$$

Q.E.D.

Comparing the results in Lemmas 1 and 2 we see that under H_0 the asymptotic rate of convergence in distribution of β_n is of order n/\sqrt{n} , whereas under H_1 the asymptotic rate of convergence is of order \sqrt{n} . Thus, if σ^2 would be known the test $r_n\beta_n/\sigma$ is a consistent standard normal test of the stationarity hypothesis against the unit root hypothesis, for $|r_n\beta_n/\sigma| \rightarrow \infty$ in probability under H_1 . However, in practice we cannot use this test statistic because the variance σ^2 is unknown.

3. A CAUCHY TEST

We may think of estimating σ^2 in a similar way as in White and Domowitz (1984), Newey and West (1987) and Phillips (1987), but here we shall use a more elegant approach. The idea is to construct a statistic with equal rates of convergence under H_0 and H_1 that also depends on σ in a similar way as above. Then taking the ratio of $r_n \beta_n$ with this this statistic σ will cancel out. The statistic involved is based on:

$$(3.1) \quad \xi_n = (1/n) \sum_{t=1}^n y_t - (1/[\frac{1}{2}n]) \sum_{t=\frac{1}{2}n+1}^{[\frac{1}{2}n]} y_t.$$

LEMMA 3: Under Assumption 1 and H_0 ,

$$(3.2) \quad (\sqrt{n}) \xi_n \Rightarrow N(0, \sigma^2), \text{ and}$$

$$(3.3) \quad r_n \beta_n \text{ and } (\sqrt{n}) \xi_n \text{ are asymptotically independent.}$$

PROOF: We have

$$(3.4) \quad (\sqrt{n}) \xi_n = \sigma [W_n(1) - 2([\frac{1}{2}n]/([\frac{1}{2}n])) W_n(\frac{1}{2})] \Rightarrow \sigma [W_*(1) - 2W_*(\frac{1}{2})],$$

where W_* is a standard Wiener process. But $W_*(1) - 2W_*(\frac{1}{2}) = [W_*(1) - W_*(\frac{1}{2})] - W_*(\frac{1}{2})$ is the difference of two independent $N(0, \frac{1}{2})$ variates, hence $W_*(1) - 2W_*(\frac{1}{2}) \sim N(0, 1)$. This proves (3.2). For proving (3.3) it suffices to show that $E[\eta_n \xi_n / n] \rightarrow 0$, where η_n is defined in (2.5). Now observe that

$$\begin{aligned} (3.5) \quad E[\eta_n \xi_n / n] &\approx (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=1}^n \gamma(t-m) \\ &\quad - (2/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=\frac{1}{2}n+1}^{[\frac{1}{2}n]} \gamma(t-m) \\ &= (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) [\sum_{m=1}^{t-1} \gamma(m) + \gamma(0) + \sum_{m=t}^n \gamma(m)] \\ &\quad - (2/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \{ I([\frac{1}{2}n] - t \geq 1) \sum_{m=\frac{1}{2}n+1}^{[\frac{1}{2}n]-t} \gamma(m) \\ &\quad + I([\frac{1}{2}n] = t) \gamma(0) + I([\frac{1}{2}n] - t \leq -1) \sum_{m=\frac{1}{2}n+1}^{[\frac{1}{2}n]-t} \gamma(m) \} \end{aligned}$$

$$\begin{aligned}
& - (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=t}^{\infty} \gamma(m) \\
& - (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=n-t+1}^{\infty} \gamma(m) \\
& + (2/n^2) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor - 1} (t - \frac{1}{2}(n+1)) \sum_{m=\lfloor \frac{1}{2}n \rfloor - t + 1}^{\infty} \gamma(m) \\
& + (2/n^2) \sum_{t=\lfloor \frac{1}{2}n \rfloor + 1}^n (t - \frac{1}{2}(n+1)) \sum_{m=t}^{\infty} \gamma(m) + O(n^{-1}) \\
& = - (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=n-t+1}^{\infty} \gamma(m) \\
& + (2/n^2) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor - 1} (t - \frac{1}{2}(n+1)) \sum_{m=\lfloor \frac{1}{2}n \rfloor - t + 1}^{\infty} \gamma(m) + O(n^{-1})
\end{aligned}$$

The third equality follows by substituting expressions of the form

$$(3.6) \quad \sum_{m=1}^k \gamma(m) = \sum_{m=1}^{\infty} \gamma(m) - \sum_{m=t}^{\infty} \gamma(m),$$

and the last equality follows from the fact that $\gamma(m)$ is exponentially vanishing, by which

$$(3.7) \quad \sum_{t=1}^{\infty} t \sum_{m=t}^{\infty} \gamma(m) \text{ and } \sum_{t=1}^{\infty} \sum_{m=t}^{\infty} \gamma(m) \text{ are convergent series.}$$

Now let $k(n)$ be an integer function of n such that $k(n)/n \rightarrow (1-\varepsilon)$ for some $\varepsilon \in (0, \frac{1}{2})$. Then

$$\begin{aligned}
(3.8) \quad & \left| (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=n-t+1}^{\infty} \gamma(m) \right| \\
& \leq \left| (1/n^2) \sum_{t=k(n)+1}^n (t - \frac{1}{2}(n+1)) \sum_{m=n-t+1}^{\infty} \gamma(m) \right| \\
& \quad + \left| (1/n^2) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor} (t - \frac{1}{2}(n+1)) \sum_{m=n-t+1}^{\infty} \gamma(m) \right| \\
& \leq \left| (1/n^2) \sum_{t=k(n)+1}^n t \sum_{m=1}^{\infty} \gamma(m) \right| \\
& \quad + \frac{1}{2}(n+1)n^{-1} \left| (1/n) \sum_{t=k(n)+1}^n 1 \sum_{m=1}^{\infty} \gamma(m) \right| \\
& \quad + \left| (1/n^2) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor} (t - \frac{1}{2}(n+1)) \sum_{m=n-k(n)+1}^{\infty} \gamma(m) \right|
\end{aligned}$$

$$\begin{aligned} &\leq \frac{1}{2} \{ [n(n+1) - k(n)(k(n)+1) + (n-k(n))(n+1)] n^{-2} \sum_{m=1}^{\infty} |\gamma(m)| \\ &\quad + 2 \sum_{m=n-k(n)+1}^{\infty} |\gamma(m)| \\ &\quad \rightarrow \frac{1}{2} (1 - (1-\varepsilon)^2 + \varepsilon) \sum_{m=1}^{\infty} |\gamma(m)| \text{ as } n \rightarrow \infty. \end{aligned}$$

Letting $\varepsilon \rightarrow 0$, it follows that

$$(3.9) \quad (1/n^2) \sum_{t=1}^n (t - \frac{1}{2}(n+1)) \sum_{m=n-t+1}^{\infty} \gamma(m) = o(1).$$

Along similar lines it follows that

$$(3.10) \quad (2/n^2) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor} (t - \frac{1}{2}(n+1)) \sum_{m=\lfloor \frac{1}{2}n \rfloor - t + 1}^{\infty} \gamma(m) = o(1).$$

Combining (3.5), (3.9) and (3.10), (3.3) follows. Q.E.D.

LEMMA 4: Under Assumption I and H_1 , $((r_n/n)\beta_n, \xi_n/\sqrt{n})' \Rightarrow \sigma(z_1, z_2)'$, where

$$(3.11) \quad (z_1, z_2)' \sim N_2 \left[\begin{pmatrix} 0 \\ 0 \end{pmatrix}, \begin{pmatrix} 1/10 & 5\sqrt{3}/96 \\ 5\sqrt{3}/96 & 1/12 \end{pmatrix} \right].$$

PROOF: Observe that

$$\begin{aligned} (3.12) \quad \xi_n &= (1/n) \sum_{t=1}^n \sum_{j=1}^t u_j - (1/\lfloor \frac{1}{2}n \rfloor) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor} \sum_{j=1}^t u_j \\ &\approx (\sigma/\sqrt{n}) \{ (1/n) \sum_{t=1}^n W_n(t/n) - 2(1/n) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor} W_n(t/n) \} \\ &= (\sigma/\sqrt{n}) \{ (1/n) \sum_{t=\lfloor \frac{1}{2}n \rfloor + 1}^n W_n(t/n) - (1/n) \sum_{t=1}^{\lfloor \frac{1}{2}n \rfloor} W_n(t/n) \}, \end{aligned}$$

hence by (2.10b-c),

$$(3.13) \quad \xi_n/\sqrt{n} \Rightarrow \sigma \{ 2 \int_{\frac{1}{2}}^1 W(\lambda) d\lambda - \int_0^1 W(\lambda) d\lambda \}.$$

The relation between the limiting distributions in (2.13) and (3.13) is the following. Denote

$$(3.14) \quad z_1 = \sqrt{12} \int_0^1 (\lambda - \frac{1}{2}) W(\lambda) d\lambda; \quad z_2 = 2 \int_{\frac{1}{2}}^1 W(\lambda) d\lambda - \int_0^1 W(\lambda) d\lambda.$$

It is easy to verify that z_1 and z_2 are jointly normally distributed with zero means. We already have seen in (2.13) that $E[z_1^2] = 1/10$. Along similar lines we can verify that $E[z_2^2] = 1/12$ and $E[z_1 z_2] = 5/3/96$. Q.E.D.

Now if we would use $r_n \beta_n / |\sqrt{n} \xi_n|$ as a test statistic then the rate of convergence under H_0 and H_1 is the same so that the test has hardly any power. However, the following direct corollary of Lemmas 3 and 4 provides a solution to this problem.

LEMMA 5: Let Assumption 1 hold. Under H_0 ,

$$(3.15) \quad \xi_n \sqrt{n} / (1 + \xi_n^2) \Rightarrow N(0, \sigma^2),$$

whereas under H_1 ,

$$(3.16) \quad [\xi_n \sqrt{n} / (1 + \xi_n^2)]^{-1} \Rightarrow \sigma z_2$$

where z_2 is defined in (3.11).

Consequently, denoting

$$(3.17) \quad S_n = r_n \beta_n (1 + \xi_n^2) / |\sqrt{n} \xi_n|,$$

it follows easily from Lemmas 1 through 5:

THEOREM 1: Let Assumption 1 hold. Under H_0 , $S_n \Rightarrow \text{Cauchy}(0,1)$, whereas under H_1 , $S_n/n \Rightarrow \sigma^2 z_1 |z_2|$, where (z_1, z_2) is defined in (3.11).

Note that the limiting distribution of S_n/n under H_1 is continuous, hence under H_1 we have,

$$(3.20) \quad \text{plim}_{n \rightarrow \infty} |S_n| = \infty.$$

This result implies that the test involved is consistent against the

unit root hypothesis.

4. CONSISTENCY AGAINST OTHER ALTERNATIVES

Our test is not only consistent against the unit root hypothesis (1.2) but also against other deviations from stationarity. Consider the following alternatives. Let H_1 be either

$$(4.1a) \quad H_1: \Delta y_t = \beta + u_t,$$

or

$$(4.1b) \quad H_1: y_t = \alpha + \beta t + u_t,$$

where β is non-zero. Then it is easy to verify that under (4.1),

$$(4.2) \quad \text{plim}_{n \rightarrow \infty} \hat{\beta}_n = \beta \text{ and } \text{plim}_{n \rightarrow \infty} \hat{\xi}_n/n = \beta/4.$$

It follows therefore from (2.14) and (3.17) that under (4.1)

$$(4.3) \quad \text{plim}_{n \rightarrow \infty} S_n/n^2 = \beta|\beta|/(8/3).$$

The similarity of the two hypotheses (4.1a) and (4.1b) with respect to the power of our test suggests that these hypotheses are hardly distinguishable. This is confirmed by Haldrup and Hylleberg (1989) and Haldrup (1989) who constructed and applied a test of the null hypothesis (4.1a) against the alternative hypothesis (4.1b).

REFERENCES:

- Billingsley, P. (1968): *Convergence of Probability Measures*. New York: John Wiley
- Dickey, D.A. and W.A. Fuller (1979): "Distribution of the Estimators for Autoregressive Time Series with a Unit Root", *Journal of the American Statistical Association*, 74, 427-431.
- Dickey, D.A. and W.A. Fuller (1981): "Likelihood Ratio Statistics for Autoregressive Time Series with a Unit Root", *Econometrica*, 49, 1057-1072.
- Evans, G.B.A. and N.E. Savin (1981): "Testing for Unit Roots: 1", *Econome-*

- trica*, 49, 753-779.
- Evans, G.B.A. and N.E.Savin (1984): "Testing for Unit Roots: 2", *Econometrica*, 52, 1241-1269.
- Fuller, W.A. (1976): *Introduction to Statistical Time Series*. New York: John Wiley.
- Haldrup, N. (1989): "Tests for Unit Roots with a Maintained Trend when the True Data Generating Process is a Random Walk with Drift", Mimeo, Institute of Economics, University of Aarhus.
- Haldrup, N. and S.Hylleberg (1989): "Unit Roots and Deterministic Trends, with Yet Another Comment on the Existence and Interpretation of a Unit Root in U.S. GNP.", Mimeo, Institute of Economics, University of Aarhus.
- Newey, W.K. and K.D.West (1987): "A Simple Positive Definite Heteroskedasticity and Autocorrelation Consistent Covariance Matrix", *Econometrica*, 55, 703-708.
- Phillips, P.C.B. (1987): "Time Series Regression with a Unit Root", *Econometrica*, 55, 277-301.
- White, H. and I.Domowitz (1984): "Nonlinear Regression with Dependent Observations", *Econometrica*, 52, 143-162.

1989-1	O.J.C. Cornielje	A time-series of Total Accounts for the Netherlands 1978-1984
1989-2	J.C. van Ours	Self-Service Activities and Legal or Illegal Market Services
1989-3	H. Visser	The Monetary Order
1989-4	G.van der Laan A.J.J. Talman	Price Rigidities and Rationing
1989-5	N.M. van Dijk	A Simple Throughput Bound For Large Closed Queueing Networks With Finite Capacities
1989-6	N.M. van Dijk	Analytic Error Bounds For Approximations of Queueing Networks with an Application to Alternate Routing
1989-7	P.Spreij	Selfexciting Counting Process Systems with Finite State Space
1989-8	H.Visser	Rational Expectations and New Classical Macroeconomics
1989-9	J.C. van Ours	De Nederlandse Boekenmarkt tussen Stabiliteit en Verandering
1989-10	H. Tieleman A. Leliveld	Traditional "Social Security Systems" and Socio-economic Processes of Change: The Chase of Swaziland; opportunities for research
1989-11	N.M. van Dijk	"Stop = Recirculate" for Exponential Product Form Queueing Networks with Departure Blocking
1989-12	F.A.G. den Butter	Modelbouw en matigingsbeleid in Nederland
1989-13	N.M. van Dijk	Simple performance estimates and error bounds for slotted ALOHA loss systems
1989-14	H. Clemens J.P. de Groot	Sugar Crisis, a Comparison of two Small Peripheral Economies
1989-15	I.J.Steyn	Consistent Diffuse Initial Conditions in the Kalman Filter
1989-16	I.J.Steyn	Als Estimation of Parameters in a State Space Model
1989-17	B.Vogelvang	Dynamic Interrelationships between Spot Prices of some Agricultural Commodities on Related Markets
1989-18	J.C. van Ours	Zoeken naar nieuwe medewerkers
1989-19	H. Kox	Integration of Environmental Externalities in International Commodity Agreements